FERAT4ERE

5 2 =EE | A4 =)
§ (Zs) | B AA
—fR1ER
X |[SECC)| KECC) | HFBUKE | H#iR 48 B
5| EBhn 21.0 17.0 == BE ket me
78] =Y 26.0 21.0 == BE RkER-H EmE
98l Bh 315 23.0 =E BE ket me
1Al Bh 225 18.0 == BE k- me
1Al =Y 5.0 8.5 == BE ZkER-h E|E
3A| mBh 12.0 11.5 RE k) EfkE-0 B/R
4ERIBER 3
oH DO BOD SS KGE#HHK
(mg/) (mg/) (mg/l) | (MPN/100ml)
RElE| 65~85] 715LLE | 10LLF | 25LLF 501 F
EHIE(75%1E) - 9.0 0.7(0.8) 1 1700
58] 74 8.6 <05 {1 =
78] 73 8.7 0.6 <1 3300
94 7.4 7.7 <0.5 1 —
1Bl 74 8.7 0.5 <1 -
18] 72 10 0.8 <1 30
3Al 72 10 1.4 <1 -
BEEE
HARESOHL| 2Ty R ANEYAL| ME fik &R 7IL¥E)LKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EA(E] 0.01LLF | JE#RHE | 0.01LLF [ 0.05LLF [ 0.01LLF [ 0.0005ELF
EE]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
58] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
Al - - - - - - -
98] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
118] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
18 - - - - - - -
38| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
ooR0X o .s | 1L,2-070 [1,1-0500] 2 X-1,2-250(1,1,1-F)50
PCB 2y e a4y | TFLY OTFLY oT4y
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HE#EE] ERE [0.028LF ] 0.002LLF [0.004LLF | 0.02LLF [ 0.04LLF 1LUF
B3] - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
5H - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
Al - - - - - - -
9K - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
118 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
18 - - - - - - -
38 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
1,1.2-kyy [FUSOR|FRFSY00I( 1,3-970 = N FARH
aAIay | TFLY FLY oAy F I3, A P %)
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#(E]0.006 L F[0.03LLF | 0.01LLF | 0.002LLF [0.006 L F| 0.003LLF 0.02LLF
EfE] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
58] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
18 - - - - - - -
98| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
11 8| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
18 - - - - - - -
38| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HE#E(E] 0.01LLF [001LLF] 10LLF 08LLF [ 1LUTF
£ <0.001 | <0.001 0.19 0.1 <0.1
58] <0.001 [ <0.001 0.14 <0.1 <0.1
18 - - - - -
98| <o.001 [ <0.001 0.20 0.1 <0.1
11 8] <0.001 | <0.001 0.20 0.1 <0.1
18 - - - - -
38| <o0.001 | <0.001 0.21 <0.1 <0.1
ZDHIRE
Nonmn| TEX | 2@ @ | 2E% | onafos | TLaTV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH{E - 0.28 0.012 - <0.005 - -
58 - 0.20 0.006 - - - -
18 - - - - - - -
98 - 0.27 0.016 - <0.005 - -
118 - 0.31 0.012 - - - -
18 - - - - - - -
38 - 0.35 0.012 - - - -
By WmAEERYE | VoBH s Y ——
IT/=| xS coD el > AE BREEXR
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
S {E - - 1.0 <0.01 - - 55
58 - - 1.0 <0.01 - - 46
18 - - 1.6 - - - 63
98 - - 1.0 <0.01 - - 48
118 - - 0.9 <0.01 - - 75
18 - - 0.5 - - - 60
38 - N 0.7 <0.01 - - 37




ERRITEE

o % HERE A4 =230
(BER)| BB A
— g8 B
Xz |[SBECC) | KiE(°C) | BEUKE | FiR =i BR
58] EBh 21.0 175 EdS BE k- me
78] £Y 255 22.0 == BE T8 me
98| Eh 31.0 23.0 == BE k-t me
18] Bh 22.0 20.0 =RE BE 8- mR
1A] =Y 5.5 8.5 == BE ZEf-H me
3A| Bh 11.5 11.0 RE k) Efke-t B/R
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
EE(E] 65~85] 75LLF | 20LLF | 25LLF | 1000LAF
EHIE(75%1E) - 8.9 0.7(0.9) 1 1300
58] 70 8.5 <0.5 <1 -
78] 6.9 8.6 0.7 i< 2400
9H 7.2 7.7 <0.5 <1 —
18] 79 8.7 <0.5 <1 -
1A 78 10 0.9 2 110
3A] 7.2 10 1.3 <1 -
RBEIER
N INESS & E ANEvOL| #E ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
2] 0.01LLF | e | 001LLF | 0.05LLF [ 0.01LLF | 0.0005LLF JERRH
EH <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
58] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
18 - - - - - - -
98] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
118] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
18 - - - - - - -
38| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
Toonx wee | 1:2-270 [11-2500(>2-1,2-290(1,1,1-kJH0
PCB 5 mig LR axs | TFLo A hTse
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s ERE [0.02LLF ] 0.002LLTF | 0.004LLF [ 0.02LLF | 0.04LLF 1LTF
EH = <0.002 <0.0002 <0.0004 [ <0.002 <0.004 <0.01
5H - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
18 - - - - - - -
9K - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
118 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
18 - - - - - - -
35 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.01
1.1,2-;y4 MY AaAlFr34o00x) 1,3->490A — . s FARH
aaIsy | TFLY FLY oroRy Fo5L P 2% %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E (5] 0.006 L F[0.03LLF | 0.01LLF | 0.002LLF [0.006 L F[ 0.003LLF 0.02LLF
SE{E] <0.0006 | <0.003 <0.001 <0.0002 [ <0.0006 <0.0003 <0.002
58] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
18 - - - - - - -
98] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
11 8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
18 - - - - - - -
38| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#{E] 0.01LLF [0.01LLF 10LLF 0.8LLF 1LLF
FE <0.001 <0.001 0.19 0.1 0.5
5H] <0.001 <0.001 0.16 0.1 <0.1
18 - - - - -
9H] <0.001 <0.001 0.22 0.1 <0.1
11A] <0.001 <0.001 0.13 <0.1 1.8
18 - - - - -
3H] <0.001 <0.001 0.24 <0.1 <0.1
ZDHIFE
N SR | 28 @ | 2E® | santus | LTV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH¥){E - 0.33 0.015 — <0.005 — —
5A] - 0.24 0.014 - - - -
18 - - - - - - -
9A - 0.30 0.019 - <0.005 - -
114 - 0.36 0.014 - - - -
1Al - - - - - - -
3A - 0.40 0.012 - — - -
X7 WIHERE | VB ‘ e =S
IT/=| kS cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (:9) (uS/cm)
Ti{E - 2200 1.0 <0.01 0.01 - -
5H - 300 1.1 <0.01 <0.01 - -
18 - - 1.9 - - - -
9H - 150 1.0 <0.01 0.01 - -
11A - 7900 0.6 <0.01 <0.01 - -
1H - - <0.5 - - - -
3A - 300 0.7 <0.01 0.01 - —




